THAE7A10B]IT SERES

BHEEZE(EER) RRER

B EEFEH 35,779

B’ E B 35,779

EOBREH 34,180

BUBREHR 1,599

BUBRER 4.47%

BEbigYE 0

ZEEKA 5 K #-R- O |SEHERT) | S=2RFED | BEDF
¥ O B F | EBREREEH EL) 9,614 587,809 =]
tiE OVAZ|ZEEBEHRR 3 357 22,834
59 WV FE— |BEBRERE®R 3 8,768 656,952 =]
BB KIZVA| NHK &% 3 221 17,511
EHVOHCH|BERE—F 3 172 10,922
LWE EX| £ B % # 1,060 86,147
NI E|IAERER 18 6,025 473,175 =]
b MM OYZ | NHK®E 3 501 28,295
WEARBANMIERRER 3 1,563 161,648

B OF U [#H=EIZBY 3 252 18,329
SWESHF|IBREESR 3 2,272 194,475

£ B E AN |BXR#EHFOES b3 3,053 251,416

‘A B B N HK % 3 157 13,016

- 4w (B&FF) B

5 = ¥ F oo 3 165 18,791

=] it 34,180 2,541,320




FHAE7A10B#MIT SERZEBEEF (LHIKKR) RAERER
B E & H 35,781
B E B # 35,779
FOEEHR 34,983
BUKRENR 796
BUKREE 2.22%
EbHIRY F 2
SERLBREEBREEOLT |[s=a@Em |[BEH(FER) "REH(2E) LEEH
F & £ B = 129.000 8,042.000 148,020.000 0
BH X # % o0 = 3,865.362| 331,023.711 7,845,995.352 8
no oW o O OE M 1,532.352|  106,845.537 2,319,156.016 2
n A = 5,136.040| 305,978.962 6,181,431.937 6
Z F 5 o B 119.076 9,034.482 193,724.387 0
I B R £ B 4135.242| 343591537 6,771,945.011 7
E E KE = 1,848.604| 168,195.386 3,159,625.890 3
e 154 ) 978.503 82,774.597 1,768,385.409 1
H X & — = 75.000 5,558.887 109,045.614 0
H X # E = 2,088.142( 177,867.202 3,618,342.792 3
@R < 12035 Y 65.000 5,615.000 77,861.000 0
BE B E  =® 13,675.109]  919,855.589 18,256,245.412 18
#t = E F = 529.636 51,145.329 1,258,501.715 1
N H K = 778.923 60,189.424 1,253,872.467 1
H O K = R 27.000 1,606.000 65,107.000 0
a H 34,982.989| 2,577,323.643 53,027,260.002 50




